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® 17 @ 1.7 @ 170 @ 0.17 ® 1700
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D 100cm? @ 1a @ tha
® 1km?

@ 10m?



O 0.001km? @ 10ha

@ 100000m? ® 1000000cm?
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@ 0.9ha=[ |m? @ 600m2 =] Ja
® 1.7t =] kg @ 80000kg = |t
® 60ha=[ |a
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- 5000g = Dkg
-4t = kg

- 900ke = @t
1At =DBg
-0.12t = @kg

@5 @ 4000 ® 0.9

@ 1400000 ® 12
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@ 6t = 6000000g @ 500kg = 04t
® 120000g = 1200 kg @ 0.03kg=30g

® 7000g = Tk
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@ 330a=3.3ha @ 20ha = 0.2km?
@ 540000 m2 = 54 ha @ 6.1ha = 6100 m?

® 1.7km? = 17000 a
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D 2km? = 20000 a @ 6ha = 60000 m?
® 40km? = 400 ha @ 500ha = 5km?

® 70000m? = 7ha



D 6900a, 69m?
® 850ha, 8.5a

® 4a, 40 m?

@ 5km?, 500000 m?

@ 780000m?, 78 ha
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@ 3.6ha = 360m?2 @ 46 a = 46000 m?
® 240a = 0.024 km? @ 300m? = 0.03a

® 8km? = 8000000 a
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D 13ha = 130a @ 1.8km? = 18000 a
@ 5.6km? = 5600 ha @ 92000a = 92ha

® 8.5km? = 850000 m?
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D 4m = 400 cm

@ 70000 cm? = 7m?
® 12m2 = 12000 cm?
® 630000 cm? = 63 m?

@ 480000 cm? = 48 m?
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@ 350m? = 35a @ 5.6km? = 5600 m?
® 3700a = 3.7ha @ 17t = 1700kg

® 23000000g = 23t
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O 0.04 km? @ 0.4ha ® 400a

@ 400000 m? ® 4ha



17. the Fol4 Hol7l 718 2 AL ol A

O 0.02km?2 @ 0.2ha ® 2000a

@ 20000 m? ® 2ha
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O 100m? @ 10000a ® 0.1km?

@ 1ha ® 10m x 100m
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® 300a
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D 0.75km? @ 100m x 4000 cm
3 80000a @ 25ha

® 100 m x 3000 cm



21. ©= FolA Hol7t 7HE 2 A2 o= A AUt

O 4m? @ 40cm? @ 40m?

@ 4000 cm? ® 40000 cm?



@ 56000000g = 56t

@ 380000¢g + 0.063t = 443 kg
® 3.5t +820kg = 1170kg

@ 0.7t 2 70g 2] 10000 BioJT},

® 380kg + 4200 g = 380.42kg
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@® 3kg=3000g @ 4t =4000000g
® 5.5t = 55000000 g @ 6t =6000kg

® 120t = 120000 kg
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9kg —» Dg
300g - @kg
58t =Qkg=®@g
4600g = 4.6kg = @t
@ 90000 @ 0.03 ® 58000

@ 58000000 ® 0.0046
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@ 8000g = 8kg
® 1300kg = 1.3t

® 5630000g = 5630 kg

@ 0.4t =400kg

@ 017t =170g



D 240a = 2.4ha @ 0.12km? = 1200 a
® 97.2ha = 972000 m?2 @ 3140a = 3.14ha

® 3500000m? = 3.5 km?
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@ 4a=400m? @ 2000a = 20ha
® 6km?2 = 6000000 m? @ 3500000 a = 35km?

® 780000 m? = 78 ha



4.2 ha
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42000(

® m? a

@ km?, a

® m?2, cm?

® ha, a

@ ha, m?
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3700000( ) =370( )= 3.7km?

@ m?, cm? @ m?, a @ m?, ha

@ ha, m? ® a, ha



30. HPAPHYP ] Yol & Fx Ve A2 ol AYY7R?
@O 480000 m?2 @ 4.8 km?

® 4800a @ 48ha

® 4800000000 cm?
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® 12ha @ 1200000 m?
@ 0.12km?2 @ 1200a

® 1200000000 cm?
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O 220ha @ 2200000 m?
@ 0.22km? @ 220000a

® 22000000000 cm?
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o] =l A & 7920 kg & AAISFAFUTE 1a & A4tFS o]
9 kg o ¥H5U7R

O A2, 1kg @ AL, 0.1kg ® 94, 0.01kg
@ w9, 1kg ® "9, 0.1kg

a
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